Project Name Balcom Canyon Road Repairs @ MP 5.66 Spec. No. RD26-16 Abstract of Bids opened on November 19, 2025

ENGINEER'S ESTIMATE: 510,000.00

LOW BIDDER - Toro Enterprises, Inc. Oxnard, CA 93036	300,718.80
2nd Bidder - Summer Construction, Inc. Santa Paula, CA 93061	322,612.00
3rd Bidder - J&H Engineering General Contractors, Inc. Camarillo, CA 93012	343,878.00
4th Bidder - BSN Construction, Inc. Ventura, CA 93003	372,981.00
5th Bidder - Kemcorp Construction, Inc. Ontario, CA 91761	465,954.00
6th Bidder - Onyx Paving Company, Inc. Yorba Linda, CA 92887	556,000.00
7th Bidder - Union Engineering Company, Inc. Ventura, CA 93002	560,769.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and were checked.

Director, Engineering Services Department

Bids o	pened on November 19, 2025			ENGINEER'S	ESTIMATE	LOW BIDDER	
Projec	t Name Balcom Canyon Road Repairs @ MP 5.66	1				Toro Enterprises, Inc. P. O. Box 6285	
li .		(6)					
_	O No 0000 40					Oxnard, CA 93036	
ITEM	Spec. No. RD26-16		_				
ITEM NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	42,597.50	42,597.50	50,000.00	50,000.00
2	Construction Signing	LS	1	1,000.00	1,000.00	7,000.00	7,000.00
3	Water Pollution Control	LS	1	5,000.00	5,000.00	7,500.00	7,500.00
4	Clearing & Grubbing	LS	1	10,000.00	10,000.00	16,500.00	16,500.00
5	AC Removal	SY	810	10.00	8,100.00	10.50	8,505.00
6	Over-Excavation	CY	1240	100.00	124,000.00	37.00	45,880.00
7	Unclassified Fill	CY	1100	60.00	66,000.00	28.00	30,800.00
8	Class II AB	CY	625	175.00	109,375.00	65.00	40,625.00
9	Geogrid	SY	2600	10.00	26,000.00	12.00	31,200.00
10	ACHM	TN	150	200.00	30,000.00	179.00	26,850.00
11	AC Dike	LF	280	150.00	42,000.00	17.00	4,760.00
12	Midwest Guardrail System (Steel Post)	LF	280	55.00	15,400.00	63.00	17,640.00
13	Midwest Guardrail End Guard	EA	4	500.00	2,000.00	279.00	1,116.00
14	Butterfly Reflectors	EA	22	15.00	330.00	42.00	924.00
15	Barbwire Fence (Metal Post)	LF	315	75.00	23,625.00	25.00	7,875.00
16	Centerline Strip (Detail 21)	LF	307	5.00	1,535.00	4.40	1,350.80
17	6" Edge Line Strip (Detail 27B)	LF	615	2.50	1,537.50	2.00	1,230.00
18	Salvage and Reinstall Sign	EA	3	500.00	1,500.00	321.00	963.00
	TOTAL Items 1 - 18				510,000.00		300,718.80
	ADDITIVE BID ALTERNATIVE						
19	AC Base Repair	TN	360	220.00	79,200.00	316.00	113,760.00
	TOTAL Bid plus Alt Add			3	589,200.00		414,478.80

Copies: Director PWA, PM: Howard DeLeon, M. Hespenheide

Bids o	pened on November 19, 2025	2nd Bidder		3rd Bidder	
Projec	t Name Balcom Canyon Road Repairs @ MP 5.66	Summer Construc	tion, Inc.	J&H Engineering G	eneral Contractors, Inc
		P. O. Box 30		4065 Mission Oaks	Blvd., Suite B
		Santa Paula, CA 9	3061	Camarillo, CA 9301	2
	Spec. No. RD26-16	1			
ITEM NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	38.849.00	38.849.00	37.500.00	37,500.00
2	Construction Signing	2,144.00	2,144.00	3,850.00	3,850.00
3	Water Pollution Control	3.984.00	3,984.00	5,000.00	5,000.00
4	Clearing & Grubbing	15,185.00	15,185.00	7,175.00	7,175.00
5	AC Removal	20.00	16,200.00	30.00	24,300.00
6	Over-Excavation	34.00	42,160.00	35.00	43,400.00
7	Unclassified Fill	27.00	29,700.00	38.00	41,800.00
8	Class II AB	72.00	45,000.00	92.00	57,500.00
9	Geogrid	17.00	44,200.00	15.00	39,000.00
10	ACHM	259.00	38,850.00	194.00	29,100.00
11	AC Dike	41.00	11,480.00	48.00	13,440.00
12	Midwest Guardrail System (Steel Post)	65.00	18,200.00	68.00	19,040.00
13	Midwest Guardrail End Guard	289.00	1,156.00	303.00	1,212.00
14	Butterfly Reflectors	43.00	946.00	20.00	440.00
15	Barbwire Fence (Metal Post)	26.00	8,190.00	28.00	8,820.00
16	Centerline Strip (Detail 21)	8.00	2,456.00	7.00	2,149.00
17	6" Edge Line Strip (Detail 27B)	4.00	2,460.00	4.80	2,952.00
18	Salvage and Reinstall Sign	484.00	1,452.00	2,400.00	7,200.00
	TOTAL Items 1 - 18		322,612.00		343,878.00
5+1	ADDITIVE BID ALTERNATIVE				
19	AC Base Repair	310.00	111,600.00	267.00	96,120.00
	TOTAL Bid plus Alt Add		434,212.00	_	439,998.00

rom unit price M=Modified b bidder

Copies: Director PWA, PM: Howard DeLeon, M. Hespenhe

Bids o	pened on November 19, 2025	4th Bidder		5th Bidder	
Project Name Balcom Canyon Road Repairs @ MP 5.66		BSN Construction, Inc.		Kemcorp Construction, Inc.	
		2897 Market St., S	TE 201	2060 E. Locust St.,	Suite G
		Ventura, CA 93003		Ontario, CA 91761	
	Spec. No. RD26-16				
ITEM					
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	60,000.00	60,000.00	119,300.00	119,300.00
2	Construction Signing	2,000.00	2,000.00	4,735.00	4,735.00
3	Water Pollution Control	9,500.00	9,500.00	18,530.00	18,530.00
4	Clearing & Grubbing	23,000.00	23,000.00	32,000.00	32,000.00
5	AC Removal	22.50	18,225.00	14.00	11,340.00
6	Over-Excavation	49.00	60,760.00	35.00	43,400.00
7	Unclassified Fill	30.00	33,000.00	40.00	44,000.00
8	Class II AB	80.00	50,000.00	105.00	65,625.00
9	Geogrid	19.10	49,660.00	16.00	41,600.00
10	ACHM	160.00	24,000.00	245.00	36,750.00
11	AC Dike	24.00	6,720.00	22.00	6,160.00
12	Midwest Guardrail System (Steel Post)	68.00	19,040.00	70.00	19,600.00
13	Midwest Guardrail End Guard	302.50	1,210.00	375.00	1,500.00
14	Butterfly Reflectors	45.00	990.00	60.00	1,320.00
15	Barbwire Fence (Metal Post)	27.20	8,568.00	29.00	9,135.00
16	Centerline Strip (Detail 21)	8.00	2,456.00	12.00	3,684.00
17	6" Edge Line Strip (Detail 27B)	4.80	2,952.00	5.00	3,075.00
18	Salvage and Reinstall Sign	300.00	900.00	1,400.00	4,200.00
	TOTAL Items 1 - 18		372,981.00		465,954.00
	ADDITIVE BID ALTERNATIVE				
19	AC Base Repair	463.90	167,004.00	400.00	144,000.00
.5	·	400.30		400.00	
	TOTAL Bid plus Alt Add		539,985.00		609,954.00

Copies: Director PWA, PM: Howard DeLeon, M. Hespenhe

Bids o	pened on November 19, 2025	6th Bidder		7th Bidder	
Projec	t Name Balcom Canyon Road Repairs @ MP 5.66	Onyx Paving Comp	oany, Inc.	Union Engineering	Company, Inc.
		22707 La Palma A	ve.	P. O. Box 1000	
		Yorba Linda, CA 9	2887	Ventura, CA 93002	?
	Spec. No. RD26-16				
ITEM NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	160,988.35	160,988.35	181,690.00	181,690.00
2	Construction Signing	10,000.00	10,000,00	3,485,00	3,485.00
3	Water Pollution Control	10,000.00	10,000.00	13,800.00	13,800.00
4	Clearing & Grubbing	30,000.00	30,000.00	13,570.00	13,570.00
5	AC Removal	20.00	16,200.00	26.00	21,060.00
6	Over-Excavation	70.00	86,800.00	42.00	52,080.00
7	Unclassified Fill	60.00	66,000.00	51.00	56,100.00
8	Class II AB	80,00	50,000.00	150.00	93,750.00
9	Geogrid	18.00	46,800.00	25.00	65,000.00
10	ACHM	240,00	36,000.00	227.00	34,050.00
11	AC Dike	30.00	8,400,00	21.00	5,880.00
12	Midwest Guardrail System (Steel Post)	65.00	18,200.00	18.00	5,040.00
13	Midwest Guardrail End Guard	300.00	1,200.00	303,00	1,212.00
14	Butterfly Reflectors	45.00	990.00	46.00	1,012.00
15	Barbwire Fence (Metal Post)	26.00	8,190.00	27.00	8,505.00
16	Centerline Strip (Detail 21)	7.70	2,363.90	5.00	1,535.00
17	6" Edge Line Strip (Detail 27B)	3.85	2,367.75	3.00	1,845.00
18	Salvage and Reinstall Sign	500.00	1,500.00	385.00	1,155.00
	TOTAL Items 1 - 18		556,000.00		560,769.00
	ADDITIVE DID ALTERNATIVE				
4.0	ADDITIVE BID ALTERNATIVE	200.55	400 000 00	055.00	407.000.00
19	AC Base Repair	300.00	108,000.00	355.00	127,800.00
	TOTAL Bid plus Alt Add		664,000.00		688,569.00

Copies: Director PWA, PM: Howard DeLeon, M. Hespenhe

LIST OF SUBCONTRACTORS

CONTRACTOR N	AME: TORO ENTERPRISES, INC.	

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work	
Benner & Caspenter	1.5 7998		400 W. Ventura Bl	l Construction	
		1000001843	Stc 255 Camerillo, CA 930	10 Monument Preser	Vation
C&W Construction			2419 Palma Dr.	Guardrail Install	
Specialties, Inc.	256795	1000007135	Ventura CA 9300		
			-		

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

County of Ventura, Public Works Agency Subcontractor List

	1		ff
Page_	1	of	y

Spec. No. RD26-16

LIST OF SUBCONTRACTORS

CONTRACTOR NAME: Summer Construction, Inc

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
R.c Becker	258762	1000001096	Santa clarita, CA	Paving
Chrisp company	374600	1000000306	Santa Paula, cA	Striping
C\$W	256795	1000007135	Ventura, CA	Guard rail
APCO	283095	1000004858	Goshen, CA	AcDike
Pavement Recycling	569352	1000003363	Jurupa vailey, ca	Ackilling
, ,				

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

County of Ventura, Public Works Agency Subcontractor List

Page ___ of ___